Before we start to describe how this design works, we would like to point the reader attention to the existing torque converters (TC) presently used in cars and trucks and the difference between them and our design.

In vehicles with automatic transmissions, TC is used as a connection between the engine and transmission. While the vehicle is stopped, TC introduces required slippage for engine to idle. 
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Here are two pictures showing outside and partially inside views of currently used TC’s
The name torque converter is not a correct name for this device. There is no any torque conversion inside presently used TC’s. As a mater a fact, output torque from TC going to transmission is lower or at the best the same as input torque form the engine into TC. There can not be any torque conversion inside TC because it does not contain any gears.

Due to the slippage inside TC, there is loss of torque. This is one of the reasons why automatic transmission cars use more gas compare to conventional transmission. 

Our new device US Patent # US8359854 truly provides torque conversion by decreasing or increasing torque coming from the engine.

It follows this formula:

Output rpm = input rpm * ratio

Output torque = input torque / ratio

Let say for example that we have an engine turning with speed 2000rpm and output torque 1000lbsFt, if this engine is connected to our TC and 

this TC:

is set to ratio 1 : 1 then on the output will be: 2000rpm and 1000lbsFt

if is set to ratio 1 : 1.1 the on the output will be: 2200rpm and 909lbsFt

if is set to ratio 1 : 0.9 then on the output will be: 1818rpm and 1100lbsFt

also

ratio for our TC can be set to:


any number : any number

including negative numbers.

For example:

if the ratio is set to 900 : 0 then engine is idling  900rpm and output from TC is  0rpm. At this moment, vehicle is standing and wheels are locked (this prevent vehicle from rolling while is standing up or down hill).

if ratio is set to 2000 : -10 (minus 10) engine is turning 2000rpm and wheels are turning 10rpm backwards. Vehicle is going reverse.

As this example shows, our TC behaves like a transmission with infinite amount of gears. Engine can be hold on steady most efficient rpm and vehicle can be accelerated or decelerated only by changing ratio of TC. This works in all rpm range. 

At the beginning of movement of vehicle from standing position, TC is set to: any number : 0 (any number - because it depends on how much acceleration is being depressed and what is current engine rpm), then 0 starts to increase itself towards positive or negative numbers.  TC is providing to the wheels theoretically at that moment ∞ amount of torque, then torque decreases itself progressively with increasing speed of the vehicle. 

Our TC fully eliminates need for transmission. It can be connected from one side to the engine and the other directly to the wheels.

Description of the torque converter

Torque converter US Patent # US8359854 is build out of four main parts which transfer the power. It does not contain any clutches, allows forward and backward speeds and while vehicle is stopped wheels are locked. In any vehicle moving conditions, there can always be found perfect match of engine to wheels using this torque converter yielding in savings of fuel consumption. 
 Picture below shows fully assembled unit with removed housing.
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Shaft 11 is connected to engine

Shaft 5 is connected to wheels

This unit is built out of two rotary pumps and one common cylinder as shown in the following picture. Fluid is pumped from pump 1 to pump 2 and back to pump 1 closing the circuit.
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Here, Cylinder 1 is removed to show internal parts. 
Ring 3 is sealing cylinder 1 from one side and ring 2 is sealing the same cylinder from the other side. Ring 3 can tightly slide on rotor 9 and ring 2 can tightly slide on rotor 10.
Divider 8 is dividing Cylinder 1 into two independent chambers A and B holding fluid.
Divider 8 also can slide tightly inside Cylinder 1.

How it works?

Cylinder 1 together with rings 2 and 3 can be pushed to the left or right as shown in the next pictures.
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In this picture Cylinder 1 is pushed to the left from the center position
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And here it is pushed to the right from the center position.

In the following picture, Disk 4 is moved away to show connection with Rotor 9
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Please pay attention that Hole 6 and Shaft 7 are off the center with Shaft 5. Shaft 7 feeds inside Hole 6 and Shaft 7 and Rotor 9 is one part. When Rotor 9 is turning around its own axle, Disk 4 and Shaft 5 are not turning (Disk 4 and Shaft 5 are one part). For Shaft 5 to start turning, Shaft 7 has to move around the axle of Shaft 5.

When Divider 8 is in the middle of Cylinder 1, then chambers A and B are equal in the size and one turn of rotor 10 will send this much of fluid as much one turn of rotor 9 can accept, that’s why both rotors will turn with the same speed. Shaft 7 will rotate around its own axle and this axle will be stationary (not revolving around axle of shaft 5). Shaft 5 is hold in 0 speed (if wheels are trying to turn Shaft 5, Shaft 7 is going to hold it in a stationary position). This is very convenient while the vehicle is stopped on red light up or down hill. It will not roll by itself.
Referring to previous pictures, if the Cylinder 1 is pushed to the right, this will cause Chamber A to become smaller in volume and Chamber B become bigger. In the aftermath one turn of Rotor 10 will send much more fluid to Chamber A. To be able to receive this amount of fluid, Rotor 9 must turn more then once for each turn of rotor 10. To accomplish this Rotor 9 together with Shaft 7 will run around the axle of Shaft 5 forcing Shaft 5 to turn.
The speed of Shaft 5 depends on how much Cylinder 1 is pushed to the right. If Cylinder 1 is pushed to the left, Shaft 5 will turn in the opposite direction following previous principles.
